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SCIENCE 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 90 

Time allowed : 3 hours Maximum Marks : 90  

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 15 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >36 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 

nydm©• _| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo 
n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 15 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 36 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer 

on the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) Bg àíZ nÌ H$mo Xmo ^mJm|, ^mJ A Am¡a ^mJ ~, _| ~m±Q>m J`m h¡ & AmnH$mo XmoZm| ^mJm| Ho$ 
àíZm| Ho$ CÎma {bIZo h¢ & 

(ii) g^r  àíZ A{Zdm`© h¢ & 

(iii) nyao àíZ nÌ _| {H$gr àíZ _| H$moB© M`Z àmá Zht h¡ & 
(iv) AmnH$mo  ^mJ A Am¡a ^mJ ~  Ho$ g^r àíZm| Ho$ CÎma n¥WH²$-n¥WH²$ ^mJ Ho$ AmYma na 

{bIZo h¢ &  
(v) ^mJ A Ho$ àíZ g§»`m 1 go 3 Ho$ àíZ EH$-EH$ A§H$ Ho$ h¢ & BZHo$ CÎma EH$ eãX AWdm 

EH$ dmŠ` _| X| & 
(vi) ^mJ A Ho$ àíZ g§»`m 4 go 6 Ho$ àíZ Xmo-Xmo A§H$m| Ho$ h¢ & BZHo$ CÎma bJ^J  

30 eãXm| _| XoZo h¢ & 
(vii) ^mJ A Ho$ àíZ g§»`m 7 go 18 Ho$ àíZ VrZ-VrZ A§H$m| Ho$ h¢ & BZHo$ CÎma bJ^J  

50 eãXm| _| XoZo h¢ & 
(viii) ^mJ A Ho$ àíZ g§»`m 19 go 24 Ho$ àíZ nm±M-nm±M A§H$m| Ho$ h¢ & BZHo$ CÎma bJ^J 

70 eãXm| _| XoZo h¢ & 
(ix) ^mJ ~ Ho$ àíZ g§»`m 25 go 33 Ho$ àíZ à`moJmË_H$ H$m¡eb na AmYm[aV ~hþ{dH$ënr àíZ 

h¢ & àË`oH$ àíZ EH$ A§H$ H$m h¡ & {XE JE Mma {dH$ënm| _| go AmnH$mo Ho$db EH$ g~go 
Cn ẁº$ {dH$ën MwZZm h¡ & 

(x) ^mJ ~ Ho$ àíZ g§»`m 34 go 36 Ho$ àíZ à`moJmË_H$ H$m¡eb na AmYm[aV Xmo-Xmo A§H$m| Ho$ 
àíZ h¢ & BZHo$ CÎma g§{já _| XoZo h¢ & 

General Instructions : 

(i) The question paper comprises of two Sections, A and B. You are to 

attempt both the sections. 

(ii) All questions are compulsory. 

(iii) There is no choice in any of the questions.  

(iv) All questions of Section A and all questions of Section B are to be 

attempted separately. 

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to 

be answered in one word or in one sentence. 

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are 

to be answered in about 30 words each.  

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These 

are to be answered in about 50 words each. 



531/1 3 P.T.O. 

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These 

are to be answered in about 70 words each. 

(ix) Question numbers 25 to 33 in Section B are multiple choice questions 

based on practical skills.  Each question is a one-mark question. You are 

to select one most appropriate response out of the four provided to you. 

(x) Question numbers 34 to 36 in Section B are two-marks questions based on 

practical skills. These are to be answered in brief. 

 
^mJ A 

SECTION A 

1. CH3OH Ho$ AJbo g_OmV H$m Zm_ Am¡a CgH$m AmpÊdH$ gyÌ {b{IE & 1 

Write the name and molecular formula of the next homologue of CH3OH. 

2. OZZ _| DNA à{VH¥${V ~ZZo Ho$ Xmo _hÎdm| H$s gyMr ~ZmBE & 1 

List two importances of DNA copying in reproduction.  

3. ‘‘n¡Ho$qOJ Ho$ {bE nm°{bWrZ Ho$ W¡bm| Ho$ ñWmZ na H$mµJµO Ho$ W¡bm| H$m Cn`moJ A{YH$ 

n`m©daU {hV¡fr h¡ &’’ Bg H$WZ H$s nwpîQ> Ho$ {bE H$moB© EH$ H$maU Xr{OE & 1 

‘‘Use of paper bags is more environment friendly than the use of 

polythene bags for packaging.’’ Give a reason to justify this statement. 

4. {ZåZ{b{IV Ho$ {bE Cn ẁº$ H$maU Xr{OE : 2 

(i) h_ dmhZm| _o§ CÎmb Xn©U H$mo níM Ñí` Xn©U Ho$ ê$n _| dar`Vm XoVo h¢ &  

(ii) gm_mÝ`V: Q>m°M©, gM©bmBQ> VWm dmhZm| Ho$ AJ«Xrnm| _| AdVb Xn©Um| H$m Cn`moJ 

{H$`m OmVm h¡ & 

Give appropriate reason for the following : 

(i) Convex mirrors are preferably used as rear view mirrors in 

vehicles. 

(ii) Concave mirrors are commonly used in torches, searchlights and 

vehicle headlights.   
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5. àmH¥${VH$ g§gmYZm| H$m g§nmo{fV à~ÝYZ Š`m| Amdí`H$ h¡ ? Xmo {d{Y`m| — nwZ:Cn`moJ Am¡a 
nwZ:MH«$U _| go {H$go ì`dhma _| bmZm A{YH$ bm^àX h¡ Am¡a Š`m| ? 2 

Why is sustainable management of natural resources necessary ? Out of 

the two methods — reuse and recycle, which one should be practised and 

why ?  

6. Ob g§J«hU Š`m h¡ ? `h VH$ZrH$ Ob g§ajU _| {H$g àH$ma ghm`H$ hmo gH$Vr h¡ ? 2 

What is water harvesting ? How can this technique be helpful in the 

conservation of water ? 

7. ‘‘g§aMZmË_H$ g_md`dVm’’ H$s n[a^mfm Xr{OE & ì`m»`m H$s{OE {H$ àmonoZ `h JwUY_© Š`m| 
Zht Xem© gH$Vm & ã`yQ>oZ, C4H10 Ho$ g§^m{dV g_md`dm| H$s g§aMZmAm§o Ho$ AmaoI It{ME & 3 

Define ‘‘Structural isomerism’’. Explain why propane cannot exhibit this 

property. Draw the structures of possible isomers of butane, C4H10. 

8. H$m~©Z `m¡{JH$m| H$s g_OmVr` loUr go Š`m VmËn`© h¡ ? (i) EoëH$sZm|, VWm (ii) EoëH$mBZm| Ho$ 
gm_mÝ` gyÌ {b{IE & BZHo$ Xmo H$m~©Z na_mUwAm| Ho$ ~rM Ho$ Am~ÝYZ H$mo Xem©Zo Ho$ {bE 
àË`oH$ loUr Ho$ nhbo gXñ` H$s g§aMZm It{ME & 3 

What is meant by homologous series of carbon compounds ? Write the 

general formula of (i) alkenes, and (ii)  alkynes. Draw the structures of 

the first member of each series to show the bonding between the two 

carbon atoms.  

9. Be, Mg VWm Ca VÎdm| _| go àË`oH$ Ho$ ~møV_ H$moe _| Xmo BboŠQ´>m°Z hmoVo h¢ Am¡a ò 
AmYw{ZH$ AmdV© gmaUr Ho$ H«$_e: 2, 3 Am¡a 4 AmdV© Ho$ gXñ` h¢ & àË`oH$ àH$aU _| nwpîQ> 
H$aVo hþE {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE : 3 

(i) `o VÎd {H$g g_yh Ho$ gXñ` h¢ ? 

(ii) BZ_| go H$m¡Z-gm VÎd g~go H$_ A{^{H«$`merb h¡ ? 

(iii) BZ_| go {H$g VÎd H$s na_mUw {ÌÁ`m A{YH$V_ h¡ ?  
The elements Be, Mg and Ca, each having two electrons in their 

outermost shells, are in the periods 2, 3 and 4 respectively of the Modern 

Periodic Table. Answer the following questions, giving justification in 

each case : 

(i) Write the group to which these elements belong.   

(ii) Name the least reactive element. 

(iii) Name the element having largest atomic radius. 
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10. H$moB© VÎd ‘X’ AmYw{ZH$ AmdV© gmaUr Ho$ Xÿgao g_yh Am¡a Mm¡Wo AmdV© _| pñWV h¡ & `h VÎd 
dm`w H$s CnpñW{V _§o ObH$a jmar` Am°ŠgmBS> ~ZmVm h¡ & 3 

(i) Bg VÎd H$mo nhMm{ZE & Bg VÎd H$m Zm_ Am¡a àVrH$ {b{IE & 

(ii) Bg VÎd H$m BboŠQ´>m°{ZH$ {dÝ`mg {b{IE & 

(iii) Bg VÎd Ho$ Am°ŠgmBS> H$mo Ob _| KmobZo na hmoZo dmbr A{^{H«$`m H$m g§Vw{bV 

amgm`{ZH$ g_rH$aU {b{IE & 
An element ‘X’ is placed in the second group and fourth period of the 

Modern Periodic Table. It burns in the presence of air to form a basic 

oxide. 

(i) Identify the element. Write the name and symbol of this element. 

(ii) Write the electronic configuration of this element. 

(iii) Write the balanced chemical equation for the reaction when the 

oxide of this element is dissolved in water.  

11. ßb¡Zo[a`m Ho$ eara H$mo VrZ ^mJm| _| H$mQ>Zo na CgHo$ àË`oH$ ^mJ _| hmoZo dmbo n[adY©Zm| H$s 
ì`m»`m Ho$ {bE AmaoI It{ME & Bg àH$aU _| CnpñWV à{H«$`m H$m Zm_ {b{IE Am¡a 
{H$gr AÝ` Ord H$m EH$ CXmhaU Xr{OE {Og_| Bg à{H«$`m H$m àojU {H$`m Om gH$Vm h¡ & 3 
Draw diagrams to explain how each of the body parts of Planaria grows 

when its body is cut into three pieces. Name the process that takes place 

in this case and give an example of any other organism in which a similar 

process can be observed. 

12. ‘‘b¢{JH$ OZZ go CËnÞ OZH$ Am¡a CZH$s g§V{V`m| _| JwUgyÌm| H$s g§»`m g_mZ hmoVr h¡ &’’ 
Bg H$WZ H$s ì`m»`m H$s{OE & 3 

‘‘The chromosome number of sexually producing parents and their 

offsprings is same.’’ Explain this statement.    

13. _mZd _mXm Ho$ J^m©e` _| {ZåZ pñW{V`m| _| hmoZo dmbo n[adV©Zm| H$m dU©Z H$s{OE : 3 

(i) O~ dh `w½_ZO J«hU H$aVm h¡, Am¡a 

(ii) O~ `w½_ZO Zht ~ZVm & 

Describe the changes the uterus undergoes in human female  

(i) when it receives the zygote, and  

(ii) when zygote is not formed. 
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14. _|S>b Zo AnZo à`moJ _| bå~o _Q>a Ho$ nm¡Ym| H$m ~m¡Zo _Q>a Ho$ nm¡Ym| Ho$ gmW g§H$aU H$am`m & 
H$maU ñnîQ> H$aVo hþE CËnÞ F1 Am¡a F2 g§V{V`mo§ Ho$ àojU ~VmBE & D±$MmB© Ho$ A{V[aº$ 
à`moJ Ho$ {bE MwZo JE AÝ` {H$Ýht Xmo {dn`m©gr ({dH$ënr) bjUm| H$s gyMr ~ZmBE & 3 

Mendel crossed tall pea plants with dwarf pea plants in his experiment. 

Giving reasons state observations of produced F1 and F2 generations. List 

any two contrasting characters other than height selected for the 

experiments. 

15. Cn ẁº$ CXmhaUm| H$s ghm`Vm go ì`m»`m H$s{OE {H$ Hw$N> bjU AJbr nr‹T>r H$mo d§emZwJV 
Š`m| Zht hmoVo h¢ & BZ bjUm| H$mo Š`m H$hVo h¢ ? 3  

With the help of suitable examples, explain why certain traits cannot be 

passed on to the next generation. What are such traits called ?  

16. H$moB© N>mÌ {H$gr Xn©U Ho$ Y«wd go _mo_~Îmr H$s Ádmbm H$mo 12 cm H$s Xÿar na aIH$a CgHo$ 
à{V{~å~ H$mo Xn©U go 36 cm Xÿar na pñWV nX} na àjo{nV H$aZm MmhVm h¡ &   3 

(i) Cg Xn©U H$m Zm_ {b{IE {Ogo Cgo Cn`moJ H$aZm Mm{hE & 

(ii) ~ZZo dmbo à{V{~å~ H$m a¡{IH$ AmdY©Z kmV H$s{OE & 

(iii) Bg àH$aU _| à{V{~å~ ~ZZm Xem©Zo Ho$ {bE {H$aU AmaoI It{ME Am¡a Bg na 

{~å~ Am¡a CgHo$ à{V{~å~ Ho$ ~rM H$s Xÿar A§{H$V H$s{OE & 
A student wants to project the image of a candle flame on a screen 36 cm 

in front of a mirror by keeping the flame at a distance of 12 cm from its 

pole. 

(i) Write the type of the mirror he should use. 

(ii) Find the linear magnification of the image produced.  

(iii) Draw a ray diagram to show the image formation in this case and 

mark the distance between the object and its image.   

17. H$maU g{hV ì`m»`m H$s{OE {H$ n¥Ïdr H$s gVh go àojU H$aZo na h_| AmH$me Zrbm Š`m| 
àVrV hmoVm h¡ & n¥Ïdr H$s n[aH«$_m H$a aho AÝVam©îQ´>r` AÝV[aj ñQ>oeZ _| pñWV {H$gr 
AÝV[aj-`mÌr H$mo AmH$me H$m a§J H¡$gm àVrV hmoJm ? AnZo CÎma H$s nwpîQ> Ho$ {bE H$maU 
Xr{OE & 3 

Explain giving reason why the sky appears blue when we observe it from 

the surface of the Earth. What will the colour of the sky be for an 

astronaut staying in the international space station orbiting the Earth ? 

Give reason to justify your answer. 
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18. ‘‘h_mao ImÚmÞ, O¡go Johÿ± Am¡a Mmdb, gpãµO`m± Am¡a \$b VWm _m±g VH$ _| ^r nr‹S>H$ 

agm`Zm| Ho$ Ad{eîQ> {d{^Þ _mÌmAm| _| nmE OmVo h¢ &’’ H$maU g{hV ì`m»`m H$s{OE {H$ 
Eogm {H$g àH$ma Am¡a Š`m| hmoVm h¡ & 3 

‘‘Our food grains such as wheat and rice, vegetables and fruits and even 

meat are found to contain varying amount of pesticide residues.’’ State 

the reason to explain how and why it happens. 

19. Am`{ZH$ `m¡{JH$ ~ZmZo dmbo VÎd AnZo ~møV_ H$moe go BboŠQ´>m°Z àmßV H$aHo$ AWdm CZH$m 

õmg H$aHo$ CËH¥$îQ> J¡g {dÝ`mg àmßV H$a boVo h¢ & H$maU XoVo hþE ì`m»`m H$s{OE {H$ H$m~©Z 

AnZo `m¡{JH$m| H$m {Z_m©U H$aZo _| Bg {d{Y H$m Cn`moJ Š`m| Zht H$a gH$Vm & Am`{ZH$ 

`m¡{JH$m| Ho$ {Z_m©U _| ~ZZo dmbo Am~ÝY Am¡a H$m~©Z Ho$ `m¡{JH$m| Ho$ {Z_m©U _| ~ZZo dmbo 
Am~ÝY Ho$ àH$mam| Ho$ Zm_ {b{IE & H$maU g{hV `h ^r C„oI H$s{OE {H$ H$m~©Z Ho$ 

`m¡{JH$ gm_mÝ`V: {dÚwV² Ho$ Hw$MmbH$ Š`m| hmoVo h¢ & 5 

Elements forming ionic compounds attain noble gas configuration by 

either gaining or losing electrons from their outermost shells. Give reason 

to explain why carbon cannot form its compound in this manner. Name 

the type of bonds formed in ionic compounds and in the compounds 

formed by carbon. Also give reason to state why carbon compounds are 

generally poor conductors of electricity.  

20. EH$qbJr VWm C^`qbJr nwînm| _| àË`oH$ H$m EH$-EH$ CXmhaU Xr{OE & namJU Š`m h¡ ? 

BgHo$ àH$mam| H$s gyMr ~ZmBE Am¡a BgHo$ _hÎd H$m C„oI H$s{OE & {H$gr nwîn _| {ZfoMZ 

Ho$ níMmV² hmoZo dmbo n[adV©Zm| H$m C„oI H$s{OE & 5 
Give one example each of a unisexual and a bisexual flower. What is 

pollination ? List its types and state its significance. Mention the changes 

a flower undergoes after fertilisation.   

21. Ordmí_ Š`m h¢ ? `o {H$g àH$ma ~ZVo h¢ ? Cn ẁº$ CXmhaUm| H$s ghm`Vm go O¡d-{dH$mg Ho$ 

AÜ``Z _§o Ordmí_m| Ho$ _hÎd H$m C„oI H$s{OE & 5 
What are fossils ? How are they formed ? State the importance of fossils 

in the study of evolution, with the help of suitable examples. 
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22. H$moB© {~å~ 18 cm \$moH$g Xÿar Ho$ AdVb Xn©U Ho$ gm_Zo 9 cm Xÿar na pñWV h¡ & ~ZZo 
dmbo à{V{~å~ H$s Xÿar n[aH${bV H$s{OE & Bg àH$aU _| à{V{~å~ ~ZZm Xem©Zo Ho$ {bE 
Zm_m§{H$V {H$aU AmaoI It{ME & 5 

 An object is placed at a distance of 9 cm in front of a concave mirror of 

focal length 18 cm. Calculate the distance of the image formed. Draw a 

labelled ray diagram to show the formation of image in this case. 

23. H$moB© N>mÌ {H$gr b|g H$m Cn`moJ H$aHo$ _mo_~Îmr H$s Ádmbm Ho$ à{V{~å~ H$mo à`moJembm H$s 
Xrdma na àjo{nV H$aZm MmhVm h¡ & 5 

(i) Cgo {H$g àH¥${V H$m b|g Cn`moJ H$aZm Mm{hE Am¡a Š`m| ? 

(ii) `{X b|g H$s \$moH$g Xÿar H$m n[a_mU 10 cm h¡, Vmo Cgo Ádmbm H$mo b|g go {H$VZr 
Xÿar na aIZm Mm{hE {H$ Xrdma na Ádmbm H$m (a) {dd{Y©V à{V{~å~; (b) N>moQ>m 

à{V{~å~ ~Zo & 

(iii) `{X dh Ádmbm H$mo b|g go 5 cm Xÿar na aIVm h¡, Vmo Š`m hmoJm ? AnZo CÎma H$s 
nwpîQ> Zm_m§{H$V {H$aU AmaoI ItMH$a H$s{OE & 

 A student wants to project the image of a candle flame on the walls of the 

laboratory by using a lens.  

(i) What should be the nature of lens and why ? 

(ii) If the magnitude of focal length of the lens is 10 cm, at what 

distance should he place the flame so as to get a (a) magnified 

image; (b) diminished image on the wall ? 

(iii) What will happen if he places the flame at a distance of 5 cm from 

the lens ? Draw a labelled ray diagram to justify your answer.     

24. _mZd ZoÌ Ho$ {ZåZ{b{IV _| go àË`oH$ ^mJ H$m EH$ H$m`© g§jon _| {b{IE : 5 

(i) n[aVm[aH$m 

(ii) nwVbr 
(iii) ñdÀN>_§S>b (H$m°{Z©`m) 

(iv) nú_m^r no{e`m± 

h_mao Xoe Ho$ bmIm| ~ƒo, {OZH$s Am`w 12 df© go H$_ h¡, H$m°{Z©`m A§YVm go nr{‹S>V h¢ & BZ 
~ƒm| H$mo ZoÌXmZ Ûmam àmßV H$m°{Z©`m Ho$ àË`mamonU go R>rH$ {H$`m Om gH$Vm h¡ & h_| Š`m| 
Am¡a {H$g àH$ma g§J{R>V hmoH$a g_mO Ho$ gXñ`m| H$mo _¥Ë`w Ho$ níMmV² ZoÌXmZ Ho$ {bE 
àmoËgm{hV H$aZm Mm{hE ? Bg VÏ` Ho$ ~mao _| g_mO _| OmJ¥{V CËnÞ H$aZm Š`m| Amdí`H$ 
h¡ ? 
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 State in brief one function of each of the following parts of the human eye :  

(i) Iris  

(ii) Pupil 

(iii) Cornea  

(iv) Ciliary muscles 

Lakhs of children of our country below the age of 12 years are suffering 

from corneal blindness. This defect of children can be cured by replacing 

the defective cornea with the cornea of a donated eye. How and why 

should we organise in groups to motivate the community members to 

donate their eyes after death ? Why is it essential to create awareness in 

the society about this fact ?     

      

^mJ ~ 
SECTION B 

 

25. gm~wZ ~ZmZo H$s à{H«$`m _| àmßV hmoZo dmbm CnmoËnmX h¡ : 1 

(A) ½bmBH$m°b 

(B) p½bgam°b 

(C) ½byH$mog 

(D) ½bmBH$moOZ  

 During the process of soap formation the by-product formed is : 

(A) Glycol  

(B) Glycerol  

(C) Glucose  

(D) Glycogen 
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26. gm~wZrH$aU A{^{H«$`m H$m AÜ``Z H$aVo g_` `{X Amn A{^{H«$`m {_lU H$m Vmn _mn| 
Am¡a gmW hr Zrbo/bmb {bQ>_g nÌm| Ûmam Bg {_lU H$s àH¥${V ^r kmV H$a|, Vmo àojUm| Ho$ 
AmYma na Š`m {ZîH$f© {ZH$boJm ? 1 

(A) A{^{H«$`m D$î_mjonr h¡ Am¡a A{^{H«$`m {_lU jmar` h¡  

(B) A{^{H«$`m D$î_mjonr h¡ Am¡a A{^{H«$`m {_lU Aåbr` h¡  

(C) A{^{H«$`m D$î_memofr h¡ Am¡a A{^{H«$`m {_lU Aåbr` h¡  

(D) A{^{H«$`m D$î_memofr h¡ Am¡a A{^{H«$`m {_lU jmar` h¡   

 While studying saponification reaction, if you measure the temperature 

of the reaction mixture and also determine its nature using blue/red 

litmus paper, then on the basis of observations the conclusion drawn 

would be  

(A) The reaction is exothermic and the reaction mixture is basic 

(B) The reaction is exothermic and the reaction mixture is acidic 

(C) The reaction is endothermic and the reaction mixture is acidic 

(D) The reaction is endothermic and the reaction mixture is basic 

27. Mma naIZ{b`m| I, II, III Am¡a IV _| g_mZ gm§ÐVm Ho$ {d{^Þ bdUm| Ho$ Obr` {db`Z ^ao 
h¢ & naIZbr I _| gmo{S>`_ ŠbmoamBS>, II _| H¡$pëg`_ ŠbmoamBS>, III _| _¡½Zr{e`_ 
ŠbmoamBS> VWm IV _| nmoQ>¡{e`_ ŠbmoamBS> Ho$ {db`Z ^ao h¢ & `{X Amn àË`oH$ naIZbr _| 
{H$gr gm~wZ Ho$ Kmob Ho$ Z_yZo H$s ~am~a _mÌm {_bmH$a naIZbr H$s gm_J«r H$mo {hbmE±Jo, 
V~ {H$Z naIZ{b`m| _| gm~wZ Ho$ gmW ñH$_ (AKwbZerb nXmW©) ~ZoJm ? 1 
(A) I d II 
(B) II d III 
(C) III d IV 
(D) I d IV  

 Aqueous solutions of four different salts of the same concentration are 

filled in four test tubes I, II, III and IV. In the test tube I solution of 

sodium chloride, in II solution of calcium chloride, in III solution of 

magnesium chloride and in IV solution of potassium chloride is filled. If 

you add equal amounts of a sample of soap solution to each test tube and 

shake the contents, in which test tubes will scum (insoluble substance) be 

formed with soap ?         

(A) I and II 

(B) II and III 

(C) III and IV 

(D) I and IV 
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28. {H$gr N>mÌ Zo ZrMo {MÌ _| Xem©E AZwgma nX} ‘S’ na gy`© H$m à{V{~å~ àmßV H$aZo Ho$ {bE 
`w{º$ ‘X’ H$m Cn`moJ {H$`m & `w{º$ ‘X’ Ho$ {df` _| ghr H$WZ Mw{ZE & 1 

 
 

(A) `w{º$ ‘X’, 12 cm \$moH$g Xÿar H$m CÎmb Xn©U h¡ & 

(B) `w{º$ ‘X’, 12 cm \$moH$g Xÿar H$m CÎmb b|g h¡ & 

(C) `w{º$ ‘X’, 12 cm \$moH$g Xÿar H$m AdVb Xn©U h¡ & 

(D) `w{º$ ‘X’, 12 cm \$moH$g Xÿar H$m AdVb b|g h¡ & 

 
A student used a device ‘X’ to obtain the image of the Sun on a screen ‘S’ 

as shown in the diagram. Select the correct statement about the device 

‘X’.     

 

(A) Device ‘X’ is a convex mirror of focal length 12 cm.   

(B) Device ‘X’ is a convex lens of focal length 12 cm. 

(C) Device ‘X’ is a concave mirror of focal length 12 cm. 

(D) device ‘X’ is a concave lens of focal length 12 cm. 
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29. {H$gr N>mÌ Zo CÎmb b|g Ûmam {H$gr M_H$sbo {~å~ H$m AË`{YH$ N>moQ>m à{V{~å~ nX} na 
àmßV H$a {b`m h¡ & b|g H$s \$moH$g Xÿar kmV H$aZo Ho$ {bE Cgo Š`m _mnZm Mm{hE ? 1 

(A) b|g go nX} H$s Xÿar 

(B) b|g go {~å~ H$s Xÿar 

(C) {~å~ go à{V{~å~ H$s Xÿar 

(D) b|g H$s _moQ>mB© Am¡a {~å~ go nX} H$s Xÿar  
A student has obtained the image of a bright object on a screen using a 

convex lens. In order to determine the focal length of the lens he shoud 

measure the  

(A) distance of the screen from the lens 

(B) distance of the object from the lens   

(C) distance of the image from the object  

(D) thickness of the lens and the distance of the object from the screen 

 

30. H$moB© N>mÌ H$m±M H$s Am`VmH$ma {g„r go hmoH$a JwµOaZo dmbr {H$gr àH$me {H$aU H$m nW 
AmnVZ H$moU Ho$ {d{^Þ _mZm| Ho$ {bE Amao{IV H$aVm h¡ & dh à`moJ H$mo AË`{YH$ 
gmdYmZr Ho$ gmW H$aHo$ {d{^Þ H$moUm| H$mo _mnVm h¡ & BZ _mnm| Ho$ {díbofU go Cgo 
{ZåZ{b{IV _| go H$m¡Z-gm {ZîH$f© {ZH$mbZm Mm{hE ? 1 

(A)  i  =   e  <   r 

(B)  i =   e  >   r 

(C)  i  >   e  >   r 

(D)  e  >  i  >   r 

 

A student traces the path of a ray of light through a rectangular glass 

slab for the different values of angle of incidence. He performs the 

experiment very carefully and measures different angles. On analysing 

the measurements, which one of the following conclusions should 

he draw ?   

(A)  i  =   e  <   r 

(B)  i =   e  >   r 

(C)  i  >   e  >   r 

(D)  e  >  i  >   r 
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31. H$moB© N>mÌ AmnVZ H$moU Ho$ {d{^Þ _mZm| Ho$ {bE {ÌH$moUr` H$m±M Ho$ {àµÁ_ go hmoH$a JwOaZo 
dmbr àH$me {H$aU H$m nW Amao{IV H$aVm h¡ & {H$aU AmaoIm| H$m {díbofU H$aZo na 
{ZåZ{b{IV _| go H$m¡Z-gm {ZîH$f© ghr hmoJm ? 1 

(A) {ZJ©V {H$aU Amn{VV {H$aU Ho$ g_mÝVa hmoVr h¡ & 

(B) {ZJ©V {H$aU Amn{VV {H$aU Ho$ bå~dV² hmoVr h¡ & 

(C) {ZJ©V {H$aU gX¡d hr Amn{VV {H$aU H$s {Xem go {H$gr H$moU na _w‹S> OmVr h¡ & 

(D) {ZJ©V H$moU AndV©Z H$moU Ho$ ~am~a hmoVm h¡ & 

 

 A student traces the path of a ray of light through a triangular glass 

prism for different values of angle of incidence. On analysing the ray 

diagrams, which one of the following conclusions would be correct ? 

(A) Emergent ray is parallel to the incident ray.  

(B) Emergent ray is perpendicular to the incident ray. 

(C) Emergent ray always bends at an angle to the direction of incident 

ray. 

(D) The angle of emergence is equal to the angle of refraction. 

 

32. {H$gr N>mÌ Zo amO_m (a¡S> {H$S>Zr ~rZ) Ho$ ^«yU H$m àojU H$aHo$ CgHo$ ZrMo {XE JE Mma 
^mJ nhMmZo : 1 

I. ~rOnÌ 

II. AÝV:H$dM 

III. _ybm§Hw$a 

IV. àm§Hw$a 

ghr nhMmZo JE ^mJ h¢  

(A) I, II d III 

(B) II, III d IV 

(C) I, III d IV 

(D) I, II d IV 
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A student observed an embryo of a red kidney bean and identified its four 

parts as  

I. Cotyledon 

II. Tegmen  

III. Radicle  

IV. Plumule  

The correctly identified parts are  

(A) I, II and III 

(B) II, III and IV 

(C) I, III and IV 

(D) I, II, and IV 

 

 

33. EH$ ì`{º$ Zo ZrMo Xr JB© gpãµO`m± IarXt : 1 

Amby, Q>_mQ>a, _ybr, AXaH$, JmOa, eH$aH§$Xr Am¡a \y$bJmo^r 

BZ gpãµO`m| _| g_OmV g§aMZmAm| H$mo {Zê${nV H$aZo dmbr Xmo gpãµO`m± H$m¡Z-gr h¢ ? 

(A) Amby Am¡a eH$aH§$Xr 

(B) _ybr Am¡a JmOa 

(C) Amby Am¡a Q>_mQ>a 

(D) AXaH$ Am¡a eH$aH§$Xr 

  

 A person has purchased the following vegetables : 

 Potato, Tomato, Radish, Ginger, Carrot, Sweet potato and Cauliflower  

 Which two of these vegetables represent the homologous structures ? 

(A) Potato and Sweet potato  

(B) Radish and Carrot  

(C) Potato and Tomato  

(D) Ginger and Sweet potato  
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34. `{X Amn {H$gr naIZbr _| 2 mL Eogr{Q>H$ Aåb boH$a Cg_| EH$ MwQ>H$s gmo{S>`_ 
hmBS´>moOZ H$m~m}ZoQ> S>mb|, Vmo Amn VwaÝV hr Š`m àojU H$a|Jo ? Bg A{^{H«$`m _| {ZH$bZo 
dmbr J¡g H$m Zm_ Am¡a CgHo$ narjU H$s {d{Y {b{IE & 2 

 If you take 2 mL of acetic acid in a test tube and add a pinch of sodium 

hydrogen carbonate to it, what would you observe immediately ? Name 

the gas evolved in the reaction and write a method to test it. 

35. `rñQ> _| _wHw$bZ Ho$ {d{^Þ MaUm| H$mo Xem©Zo Ho$ {bE Zm_m§{H$V AmaoI It{ME & 2 
Draw a labelled diagram to show the different stages of budding in yeast. 

36. H$moB© 2.0 cm bå~m {~å~ 10 cm \$moH$g Xÿar Ho$ {H$gr CÎmb b|g Ho$ _w»` Aj Ho$ 
bå~dV² aIm h¡ & {~å~ H$s b|g go Xÿar 15 cm h¡ & àH$me {H$aU AmaoI ItMH$a à{V{~å~ 
H$s àH¥${V Am¡a pñW{V kmV H$s{OE & à{V{~å~ H$s bå~mB© ^r _mnH$a {b{IE & 2 

 A 2·0 cm tall object is placed perpendicular to the principal axis of a 

convex lens of focal length 10 cm. The distance of the object from the lens 

is 15 cm. Draw a ray diagram to find the nature and position of the image 

formed. Also measure and write the length of the image. 


